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SOURCE 3: Telegram from Winston Churchill to Anthony Eden, in Moscow, dated 29th October 1943 (extract) (CHAR 20/122/78)

On a scale of 1-5 how far do you agree | Which extract(s) from the source support your argument?
that this source supports this
inference?

Churchill is firmly
committed to ‘Overlord’.

Churchill would not be
unhappy if ‘Overlord’ was
delayed.

Churchill is concerned
that Russia and the US
doubt his commitment to
‘Overlord’.

Churchill sees ltaly as a
higher priority than
‘Overlord’.




